QC Chart of Internal Quality Control (IQC)for G6PD Quantitative Test

Select LotNo : AC1203N (2014-01-01 ~ 2100-12-31) Change
Print Table
| Lab020 |

\ | Control N \ Control D
| QC Control Lot No. | AC1203N \ AC1203D

Duration of the Analyzin Month CUM Month Cum

Y29 1 (2018/06) |  (2017/07/27~2018/06/30) | (2018/06) |  (2017/07/27~2018/06/30)
\ Runs (N) | 4 | 26 4 | 26
| Mean (U/gHb) | 162 | 15.4 BE 35
\ SD |07 | 1.2 .02 | 0.2
\ CV (%) | 43 | 7.8 . 56 | 5.7
| TargetValue (UigHb) | 142 | 14.2 33 | 3.3
| Total Error (%) | 227 | 24.0 . 202 | 175
\ TEa (%) | 20 | 20 20 | 20
| o |14 | 15 19| 2.4
Bias (%) = [ (| Mean - Target| ) / Target ] x 100%
TE : Total Error(%) = Bias (%) + 2 x CV (%)
o (Sigma) = [TEa% - Bias (%)] / CV (%)
Month : 2018 06 Change ; Cumulative:from 2017 07 27 to 2018 06 30 Change
TOP

Control N SDI QC Chart

Lot No.: AC1203N ; Duration : 2017-07-27 to 2018-06-30 ; Target : 14.2 ; SD : 2.10
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Control D SDI QC Chart
Lot No.: AC1203D ; Duration : 2017-07-27 to 2018-06-30 ; Target : 3.3 ; SD : 0.90 Lab020
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Control N and Control D SDI

QC Chart

Lot No.: AC1203N ; Duration : 2017-07-27 to 2018-06-30 ; Target: 14.2;SD:2.10 (e)

Lot No.: AC1203D ; Duration : 2017-07-27 to 2018-06-30 ; Target: 3.3;SD:0.90 ()
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Peer Group Statistics (Table 1)

Select LotNo : [AC1203N (2014-01-01 ~ 2100-12-31) V| Change |

Select Reagent Kit : |5 - Medicon

Month :|2018 \v||06 V|| Change

Monthly

v| Change |

Print Table 1

| I I Control N (Lot No.: AC1203N) I Control D (Lot No.: AC1203D) |
UnitD Reagent Kitl| Target || Mean ||n for CV|| TE |TEa)| || Target || Mean |n for | ICV| TE TEa|E|
“ |l (Code) £ ||(U/gHb)||(U/gHb) [Mean(|>~|(%)(| (%) |(%) (U/gHb)|(|(U/gHb)|[Mean||>~|[(%)(| (%) | (%)
Lab020 5 142 || 162 || 4 4.3|22.7)[ 20 |[1.4] || 3.3 3.6 || 4 [0.2][5.6/20.2] 20
Lab022 5 144 || 145 || 4 [0.5]3.4]7.6][20]5.7]] 3.3 34 || 4 [o.1][2.9]8.9] 20
[Lab028 |[ 5 [ 142 [ 149 ][ 13 Jo.7|[4.7]14.3][20|B2][ 3.3 ][ 3.7 ][ 13 Jo.2][5.4]22.9][20][1.5]
[ Tomt [ - J[ - 151 2t fodfeol[ - J[- J[-JC - 3.6 |21 Jo2s.el[ - - 1[-]

Bias (%) = ( | Mean - Target | )/ Target ] x 100%

TE : Total Error(%) = Bias (%) +2 x CV (%)
o (Sigma) = [TEa% - Bias (%)]/ CV (%)

[TOP]
Cumulative
Cumulative : from [2014 v|[02 v|[01 v]to [2018 V] [06 V][30 V]| Change |
Control N (Lot No.: AC1203N) | Control D (Lot No.: AC1203D)
Reagent
. ¢ Kit Target | Mean ||n for ) CV|| TE |[TEa Target || Mean ||n for SD CV|| TE (|TEa]
UnitID = Code) ? (U/gHb)|[(U/gHb)Mean|>[l0a)| @) (%) © | |l(U/eHb)|(UrgHb)|[Mean|>" | (%)|| (%) |[%0)|| ©
ode) —
[Labo19 |5 | 148 [ 14.9 ][ 30 Jo.7][4.7][ro.q[20 J[4.1][J[ 3.4 [ 3.6 ][ 30 Jo.6]16.7[39.2][20][0.8]
Lab020 5 142 ][ 15.6 ][ 25 Jo.7][4.5][18.8[20 J[2.3][[ 33 3.5 | 25 0.2 5.7][17.5] 20 |[2.4
Lab021 5 123 ][ 155 ][ 12 Jpo.3][3.2]p2.s|[20 [FLof][ 2.8 45 | 12 [1.1]24.4/[109.6| 20 |]-1.7
[Lab022 | 5 | 144 J[ 148 ][ 9 Jo42.7][82][20 [>6][][ 33 [ 34 ][ 9 Jo.1J2.9][ 8.9 ][20][5.9]
[Lab026 [ 5 | 146 ][ 147 ][ 16 Jo.5|[3.4][7.5][36 [>6][][ 32 [ 32 ][ 16 Jo.13.1][ 6.3 ][36][>6]
[Lab028 [ 5 | 142 ][ 15.1 ][ 76 Joo.8][5.3][16.9][20 J2.6][][ 33 [ 3.6 ][ 76 J0.2]5.6][20.2][20][1.9]
Lab037 5 12.6 ][ 157 [ 15 Jpo35][32]p1.oj[20 F4J[ 3.0 3.5 | 15 Jo.1]2.9][22.4] 20 1.1
Lab041 5 128 [ 129 [ 1 J[-][- [ - J[20] - 2.9 3.2 1| -0 - - |[20] -
[ Toal [ - [ - 15t J[is4pgs3) - J[- - J0C - ] 3.6 J[1s4josfis9 - J[-]-]
Bias (%) = [ (| Mean - Target | ) / Target ] x 100%
TE : Total Error(%) = Bias (%) +2 x CV (%)
o (Sigma) = [TEa% - Bias (%)]/ CV (%)
[TOP]
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Peer Group Statistics (Table 2)

Select LotNo : [AC1203N (2014-01-01 ~ 2100-12-31) v| Change |

Select Reagent Kit : [5-Medicon V| Change |

Control N Month vs. Cumulative
Control N (Lot No.: AC1203N)
Month (2018/06) Il CUM (2014/02/01~2018/06/30)

. ¢ || ReagentKit || Target || Mean || n for CV|| TE (|TEa Target || Mean || n for CV|| TE ||TEa
UnitlD = 11 codey £ || (UrgHb) || (U/gHD) || Mean P oall @) | o) | @ |||l Uretiby || (Urgtb) |[Mean | SP] o) || @) [| o) | ©
Lab019 5 14.8 - o - -1 - J20] -] 148 149 | 30 Jo.7]4.7][10.1][ 20 | 4.1
[ Lab020 || 5 | 142 |[ 162 | 4 ||0.7||43||227|| 20 Jr4|[][ 142 [ 156 ][ 25 Jo.7]4.5][18.8][ 20 |[2.3]
| Lab021 || 5 | 123 || - o ]-]- (20 ] - 00 123 ][ 155 ][ 12 Jo.5]3.2][32.5][ 20 |-1.9]
| Lab022 || 5 | 144 || 145 | 4 ||o.5||3.4|| 7.6 ][ 20 [5.7][][ 144 ][ 148 ][ 9 Jo.4]2.7][82][20 | >6]
Lab026 5 14.6 - o - -1 -3 -0 146 147 |[ 16 [0.5]3.4][7.5][ 36 | >6
Lab028 5 14.2 149 | 13 Jo.7]4.7][14.3][ 20 [3.2][][ 14.2 15.1 || 76 [0.8]5.3][16.9] 20 | 2.6
Lab037 5 12.6 - 0 |- - 20 [ -[[ 126 157 || 15 Jo0.5]3.2]]31.0][ 20 |-1.4
[Labodl || s | 128 [ - J o [- || || 20 || 0L 128 J[ 29 [ 1 - -1 -J[20] -]
[ Toal || - || - [ 151 J[21 ||0-9||6-0|| 0 - I 15 (184 Jos[s3] - - -]

Bias (%) =1 ( | Mean - Target | )/ Target ] x 100%
TE : Total Error(%) = Bias (%) + 2 x CV (%)
o (Sigma) = [TEa% - Bias (%)] / CV (%)

Month : [2018 V| [06 V|| Change | Cumulative : from[2014 v|[02 v|[01 V] to[2018 V|[06 Vv|[30 V|| Change
[TOP]
Control D Month vs. Cumulative
Control D (Lot No.: AC1203D)
Month (2018/06) Il CUM (2014/02/01~2018/06/30)

. ¢ ||ReagentKit|| Target | Mean || n for SD CV| TE ||TEa Target || Mean || n for D CV|l TE ||TEa
UnitID £ (Code) * || (U/gHD) || (U/gHb)|[Mean )| (%) || (%) | © ||||(U/gHb) || (U/gHb) |[Mean ©%)|| %) [[@)]| °
[Labo1o [ 5 ][ 34 [ - J[ o J-J -1 -J20]-]J0[ 34 ] 36 ][ 30 Jo.6]16.7][ 39.2 ][ 20 ][0.8]
[ Lab020 || 5 [ 33 ][ 36 | 4 Jo2]5.6]20.2][ 20 [1o]][ 33 ][ 3.5 [ 25 J0-2] 5.7][17.5][ 20 ][2.4]
[Laboi 5 N 28 ][ - Jro J[-][- - J[20-J[I[ 28 ] 45 | 12 J[1.1]24.4][109.6][20 |[-1.7]
Lab022 5 33 34 ][ 4 Jo.1]29]8.9] 20 [5.9][][ 3.3 34 ][ 9 Jo.1]2.9] 89 ][20][5.9
Lab026 5 3.2 - o -1-T -6 -1l 32 32 ][ 16 Joa]3.1][ 63 |[36]>6
Lab028 5 3.3 3.7 13 ][0.2][5.4]22.9] 20 J1.5][][ 33 36 | 76 ][02] 5.6][2021]20]1.9
Lab037 5 3.0 - o (-1 -T -1J20]-][ 30 35 |15 Jo.a] 29][22.4 ][ 20 ][ 1.1
[Lavodt [ 5 N 29 | - o Jl-J[- [ -Jf20-JC 29 J[ 32 J[ ¢ [-] -] - J20] -]
[ Towl J[ - 0 - 36 J 2t Jo2ffse] - [ - J-J0C - I 36 184 o539 - ][ - -]
Bias (%)=[(|Mean-Target|)/Target]X100%

TE : Total Error(%) = Bias (%) + 2 x CV (%)
o (Sigma) = [TEa% - Bias (%)] / CV (%)
Month : [2018 V| [06 V|| Change | Cumulative : from[2014 v|[02 v|[01 V] t0[2018 V|[06 Vv|[30 V|| Change
[TOP]
Reagent Kit Reagent Code

Medicon 5




	Lab020
	table_1_2
	table_1
	table_2


